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Instructions for times table problem solving and reasoning. 
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Now have a go at some similar problems.
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R,e/a/s/oxn/i/n/q and /p/r,o/b/l,e/m /snxix\r/i/nq WAAN b Aimes Aahle.

Rachel says, . . .
. ViocAdins hanve L /S/t/r/t/n,q/s.

If 3 violins have 12 strings, then 6 violins
will have 20 strings. . .
How mamny sirimgs mAidA

Rachel 6 NAoAins hanve?

Is Rachel correct?
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Rachel says,

If 3 violins have 12 strings, then 6 violins

c’.f?". will have 20 strings. 6 X L*' = 24
-
3 0000
Rachel .. ..
0000
0000
0000
0000
Is Rachel correct? Rached is moA correch

6 NAOAANA WAAL hanve

24 /S/t/r/t/n,q/s.
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John says,

| know 8 x 4 = 32 so | can tell you other
related facts.

What other facts might John know?

List three other facts.

We Anomw Ahat dinvisiomn
As Ahe imnverse of
muAliplication so
which oiher facis camn

we wWrite?

8 X L = 32
L X 8 = 32
32 - 8=4

32:4=8
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Alan buys some sweets with his pocket money. He spends more
than 8p but less than 48p.

Fizz Flash Candy Cane Stripe Delight

#
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Find three possible combinations of the sweets he could have
bought.

There are Aois /o/f
/paééA/bAAA/tAzxs )

2 Aois /cr/f 4&44 /{/{a/sh = 8/p
3 /c,a/n,d/té cames = |2/p

L /S/t/r/t/pz /dex{A,qh/t = |6/p

We can make atd ,O/f Ahe amounis

ap Ao 12 AoAs sz amy Aaweel.




